(2)HERRKRE(T2—4)

(HFN24)
w 1,000g | 1,000~ 1,500~ | 2,000~ 2,500g -
o T
R | 1,500g3K 7 | 2,000k | 2,500g kK| UL
£ H 840,835 2,555 3,673 9,925 61,386 | 763,182 114
I B 2 12,092 28 41 143 839 11,040 1
BERRE 1,311 0 5 20 95 1,190 1
EF LA 405 0 3 6 26 370 -
BEM 584 0 2 10 44 528 -
IR ET 54 0 0 0 3 51 -
= SNy 39 0 0 1 2 36 -
JIIDET 51 0 0 0 7 44 -
L RET 10 0 0 0 0 10 -
J\E 2T 39 0 0 1 2 35 1
=ML 21 0 0 0 1 20 -
E4=1]11:) 10 0 0 0 2 8 -
1 2= BT 98 0 0 2 8 88 -
(3) FERANEIRE R (2,500gK i) E# - R (T2—5)
TR234E FR244 TR254E TR264E TR214E
= =E 100,378 96 99,311 9.6 98,624 9.6 95,768 95 95,206 95
I B2 1,627 9.7 1575 95 1,496 9.4 1,322 8.7 1,402 9.1
BER 168 90 155 8.7 160 9.1 145 8.6 172 10.1
EFbA 56 10.7 37 73 43 8.7 41 8.1 41 8.5
a7 73 8.3 84 10.2 61 77 64 8.3 87 108
IR ET 2 2.7 1 1.6 9 15 7 13.7 6 9.7
= HNET 5 96 3 6.1 4 9.1 3 75 2 50
JIIDET 8 1.6 3 45 7 8.8 2 28 9 13.2
+RET - 0.0 2 0.0 4 222 - 0.0 3 176
J\E T 6 98 12 176 13 20.3 9 148 6 95
=ML 4 8.9 4 8.3 5 15.6 4 105 5 135
= )IF 2 182 1 71 0 0.0 - 0.0 1 8.3
& 12 9.1 8 6.0 14 10.1 15 121 12 10.5
FER285F ER29% ERL304E SMTE S22
£ = 92,082 9.7 89,353 9.4 86,269 9.4 81,462 9.4 77,539 9.2
I B 2 1,314 9.4 1,314 9.4 1,248 9.1 1,256 9.8 1,051 8.7
EISER 156 9.8 156 9.8 125 8.6 133 9.4 120 9.2
ERmEm 48 8.4 38 8.4 40 9.2 30 7.7 35 8.6
AR 67 114 85 1.4 53 8.3 55 8.5 56 96
IR ET 5 10.7 6 10.7 6 9.1 11 16.9 3 56
= n#r 2 9.5 4 9.5 3 7.9 5 9.8 3 77
)11 iBET 6 10.4 7 10.4 10 145 11 16.4 7 13.7
+RET 2 0.0 - 0.0 4 308 1 5.6 - 0.0
J\EZHET 9 9.3 5 9.3 4 8.2 3 8.3 3 77
B )11 BT - 0.0 - 0.0 1 3.6 5 21.7 1 48
ES=1IES] - 125 1 125 - 0.0 1 1.1 2 200
& T 12 8.7 10 8.7 4 36 11 9.8 10 10.2
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